Episode 36: Presentation of functions as power series

$$\begin{cases} \frac{1}{1-x} = \sum_{h=0}^{\infty} x^{h}, \quad |x|<1 \\ \frac{1}{1-x} = \sum_{h=0}^{\infty} \frac{x^{h}}{h!}, \quad fr all x \end{cases} \qquad x \in b.35$$

$$e^{x} = \sum_{h=0}^{\infty} \frac{x^{h}}{h!}, \quad fr all x \qquad x \in b.35$$

$$hdy is a prevected in
$$f(x) = \sum_{h=0}^{\infty} q_{h} x^{h}, \quad velledle?$$

$$f^{-h} \qquad p.5.$$

$$\frac{f^{-h}}{p.5}, \quad velledle?$$

$$e^{x} = 1 + x + \frac{x^{2}}{2}, \quad some \quad f \text{ as are given as } p.1 \text{ or } (k,kyrch)$$

$$Si(x) = \int \frac{sint}{t} dt = \sum_{h=0}^{\infty} (-1)^{h-1} \frac{x^{2h}}{(2n-1)(2h-1)!} = \frac{1}{h(k,p)(2h-1)!}$$

$$= x - \frac{x^{3}}{3\cdot3!} + \frac{x^{5}}{5\cdot5!} - \dots$$

$$\frac{Ex}{h=0} \quad Prevent \quad fk \quad f^{-h} \quad y = h((1+x) \text{ as } fk \quad such \notin aps.$$

$$\frac{1}{1+x} = \sum_{h=0}^{\infty} x^{h}, \quad |x|<1$$

$$\frac{1}{1+x} = \sum_{h=0}^{\infty} (-1)^{h} x^{h}, \quad |x|<1$$

$$\frac{1}{h(1+x)} = \sum_{h=0}^{\infty} (-1)^{h} x^{h+1} + C, \quad \frac{1|x|<1}{1}$$

$$\frac{1}{h(p)(2h-1)} = \sum_{h=0}^{\infty} (-1)^{h} x^{h+1} + C, \quad \frac{1|x|<1}{1}$$$$

$$C = ? \quad Take \quad x = 0 \in (-1/1) \quad and shift didt$$

$$\int_{h} (1+0) = 0 + C \Rightarrow C = 0$$
So $\int_{h} (1+x) = \sum_{h=0}^{\infty} \frac{(-1)^{h}}{n+1} x^{h+1} = \sum_{m=1}^{\infty} \frac{(-1)^{m+1}}{m} x^{m} =$

$$\int_{h=1}^{\infty} \frac{(-1)^{h+1}}{h} x^{h} = x - \frac{x^{2}}{2} + \frac{x^{3}}{3} - \frac{x^{9}}{4} + \dots$$

$$\int_{|x| < 1}^{|x| < 1}$$

$$\int_{h=1}^{\infty} \frac{(-1)^{h+1}}{h} x^{h} = x - \frac{x^{2}}{2} + \frac{x^{3}}{3} - \frac{x^{9}}{4} + \dots$$

$$\int_{|x| < 1}^{|x| < 1}$$
For $x = 1$: $p \le i \le \sum_{h=1}^{\infty} \frac{(-1)^{h+1}}{h} x^{h} = x - \frac{x^{2}}{2} + \frac{x^{3}}{3} - \frac{x^{9}}{4} + \dots$

$$\int_{h=1}^{|x| < 1} \frac{1}{h} x^{h} = x - \frac{x^{2}}{2} + \frac{x^{3}}{3} - \frac{x^{9}}{4} + \dots$$

$$\int_{|x| < 1}^{|x| < 1} \frac{1}{h} x^{h} = x - \frac{x^{2}}{2} + \frac{x^{3}}{3} - \frac{x^{9}}{4} + \dots$$

$$\int_{h=1}^{|x| < 1} \frac{1}{h} x^{h} = x - \frac{x^{2}}{2} + \frac{x^{3}}{3} - \frac{x^{9}}{4} + \dots$$

$$\int_{h=1}^{|x| < 1} \frac{1}{h} x^{h} = x - \frac{x^{2}}{2} + \frac{x^{3}}{3} - \frac{x^{9}}{4} + \dots$$

$$\int_{h=1}^{|x| < 1} \frac{1}{h} x^{h} = x - \frac{x^{2}}{2} + \frac{x^{3}}{3} - \frac{x^{9}}{4} + \dots$$

$$\int_{h=1}^{|x| < 1} \frac{1}{h} x^{h} = x - \frac{x^{2}}{2} + \frac{x^{3}}{3} - \frac{x^{9}}{4} + \dots$$

$$\int_{h=1}^{|x| < 1} \frac{1}{h} x^{h} = x - \frac{x^{2}}{2} + \frac{x^{3}}{3} - \frac{x^{9}}{4} + \dots$$

arctan x =
$$\sum_{h=0}^{\infty} \frac{(-1)^{h}}{2h+1} x^{2h+1} + ($$
, $|x|<)$
 $d = \int_{k=0}^{\infty} \frac{(-1)^{h}}{2h+1} x^{2h}$, $|x|<)$
 $integrate
 $\frac{1}{1+x^{2}} = \sum_{h=0}^{\infty} (-1)^{h} x^{2h}$, $|x|<)$$

$$\frac{1}{1+x} = \sum_{h=0}^{\infty} (-1)^{h} x^{h}, |x| < 1$$
To determine (), set $x = 0$:
 $arctan 0 = 0 + C \Longrightarrow C = 0$

$$arctan x = \sum_{h=0}^{\infty} \frac{(-1)^{h}}{2h+1} x^{2h+1} = x - \frac{x^{3}}{3} + \frac{x^{5}}{5} - \frac{x^{7}}{7} + \dots$$

$$chak \qquad \qquad |x| < 1$$
For $x = \pm 1$

$$\sum_{h=0}^{\infty} \frac{(-1)^{h} (\pm 1)}{2h+1} = Cohv. \quad g \quad alt. \quad series test$$

$$F_{x} = \frac{1}{2h}$$

